o8l o
A 5 5 5 5
=7 08 32 L& BEBe N MAals | SRUE | wats | A |HD
29[ HL 29| B4 |29 | B4 29| &~
BEEEREE CAHO|AZ2t0/2 g { 1100 3 | 65 8 | 40 2 | 80 | 285
2 | WKE [ M2| SA0Sm/Keo AERE > 180 7 | 43 1 100 4 | 55 278
B ERER So=Aux Helig 3 65 | 1 | 100 1100 | 265
4 2ATE A= CABOl~=Z2i0/2E 4 53 2 | 80 3 65 198
5 | 2mE (24| =oigstm/dm=220128 | 4 | 53 | 4 | 55 | 9 1355 5 | 51 | 194.5
6 0= AN= ZAE D 6 | 47 14| 22 | 5 | 47 | 6 | 47 | 163
7 20 (A2 =AHEt N /K2AUAAESE 21 9.5 5 51 3 60 7 | 415 162
8 | AEE [Fol|a=agIz0sn/Keo Aede] 8 | 40 > 180 | 7 | 4151615
9 | za= A= Fourteen A2 2 9 1355 10 | 34 | 15 | 19 | 12| 28 | 1165
10| NE= M= NEETTE == 19 14 | 8 | 40 9 (355 15| 22 | 1115
TREEERES BN VP E ETET 9 (855 9 | 37 9 1355 108
12 oI=E (M2 FEEEN RS 7 1 43 3 | 60 103
13| HRE (&= AFZ2C0|UAZ/0|EEE 23 | 7.5 6 47 5 47 101.5
14| 259 |20 Her=210| 2 ME] 519 | 17 | 16 | 11 295 19 | 13 | 77.5
15 | A= (22 EXEC0IHHA 15 19 11 31 15 19 21 8 77
16| OI2Z= 2] SV pIES ) 11 | 81 13 26 21| 8 | 65
EECREE 20/ Z 208 12 | 28 9 355 635
18| BaE [0 TEERNPRE 23 175 14| 22 | 11 295 59
19 225 (27| VTS [P 15 | 19 111 31 | 50
AR EREE TADAOr] 12 | 28 15 | 19 47
20 | 2= (24 Ao HE00B 5 | 47 47
22 | 2SS |24 SAMA3C0IHA 14 22 14 24 46
23 | mZ |HE SR 1326 22 9 35
24 | NEE oA olm A= 2f0l2l 14 24 21 9 33
T AEEEREE Axzn/0gog 13 | 26 26
B TEREE oIE=20/2 HIE} 27 3 |17 ] 16 | 23 | 7 26
TAEEREE SRER 13 26 | 26
28 | 23 |24 S AT 2] AFOL 3 45 24 |55 19| 12 21 | 8 | 255
29 | 2N |2 RTINS 15 19 | 24 | 55 245
30 | =% (M2 FEEENEEE 14 | 24 | 24
31 AMNED| | =2 | EE2C0|UHES/CIRE22I0124MIE | 30 1 21 9 19 12 22
32 | ®molz N2 NEEENEE 25 | 55 17 | 16 29 1 03 | 218
IR EERCE] Y EEERTE 16 | 20 | 20
34 | 2015 |27 S e 15 | 19 19
T AECEREE TEERNERE 33 26 | 45 19| 18 | 175
36 | 0= M= sltzoln=an 17 [ 17 | 17
36| A=Y A= ST 17 17 | 17
38 | ZES |0l H|0m=0/QEIEy - AHOIAZ20/2E | 20 | 12 29 1 03 | 123
39 | ZtAtAl |2 At SAZ22H0I Y HE 19 12 12
39 | @A (23| ax=sexzpoaz=d 20 | 12 12
41 [ 28 (20l| og2A=s=e10/2 ME 21195 9.5
42 | HEI2 |24 Z9200BA 3] /SK2210/2E | 37 211 9 9
43| xmem =2 cmEOE D 271 3 | 24 | 55 41 85
44 | A0 (A= sigzonsan 211 8 | 8
44 | 2ed 2| PINCHCLUB 21 8 | 8
46 | BrH & |24 SAHIHS 2| At 26 | 4.5 | 28 3 7.5
47 | AR N2| 0ZMSE/LA2210/2 HIE 23 | 7 7
47 | 9T M2 = 2l Aot 3| 28 | 3 27 4 | 7
47 [ OIE 2= ETINTEE 23 | 7 7
50 | 2BE N2 == Mot g 24 | 55 29 | 03 | 58
51 2Es (A= HF=HIRLE 25 | 5.5 55
EECREE ST 26 5 | 5
53 | 0120 |ZY| ESxuzel0gcids 28 | 3 3




AES2 |2F EFARUNHEY 27 | 3 3
Olds |24t S AS XHatet 3 29 | 1.5 | 33 1.5
Bt 40| oA EZEH 2 20| UM E 40 29 | 1.5 46 1.5
2AEH |E= AFE0|YLE 29 1 1
Bt E |24 cr oI 2/ R AZL0| 2 HIE 29 1 1
dEtd [ ES 20| AtHE2 S 29 1 1
OIXIZE M2 AHHESR 29 | 0.3 0.3
2Elel (M= =R E=)=igm] 29 1 0.3 | 0.3
MER M2 X2 29 | 0.3 0.3
HES (M2 g 29 | 0.3 0.3
2HEE |24 SATHE 2| At g 42 31 33 29 | 0.3 0.3
Ade |oHA QIMNHNSsW/0IEEE 29 |1 0.3 | 0.3
2488 |&ZJ| 2220l YMES 29 |1 0.3 | 0.3
o1& &I HelZ2elo| 2 HE 31
014 |&=| EFIJIHS10/01HEZ21012E | 31
LS (&= ZF22H0|USE/AE 33
DIRE |E= sﬁ:EPOIU'@O* 3l 33
A0S | AFD| OrAAUAESEHZ 20| Y HH 36 33 49
ot (&Y PSE2H0| U HES 37
2460 |23 2FARUNIY 37
2EE |Fat SAa 2| atetg) 40 41
L | Ra SATI L 2| atet g 43 39 35 53
ZPE |Fa SATHE 2| Atet g 43 41
TFL |2F ZFA A 45
22BN |24 S92 OBAFE 31
=40 | R4t S20BA2 G 33
S8R |SH S AS XHaret 3 33
o1& (M2 ol | = el 36
o1 |2t SR PAR=PARaeIg=] 36 37
BH=SE ONA H&E ZSehol Y Al E 38
a7 (&I He =220l 2 HE 39
S8 24 S A S XFAFRE S 41
HHES [0+ S AZ22H0] 2 Al EH 32
EM&8 U+ AN 220l Y HE 35
olatg |24t SHEES S0l AHEH 37 53
OIXE |2 =2HI3e0|UAE 3 37
olatst (2= ?DIBEPOID“\*' & 37
285 U+ /\"/\-IZEPOI all= 41
S |24t AxEHS 20| UAME 44
2AEE |24 MEIYES JEFOIDWH 45
AGd R4t SASC01YHH 45
S0l | R4 S 422401 2 Al EH 47
AdESE 24 SNEIES 220l Y HEH 48
=50 (M2 ZsE/0lgE2C0/UE 39
HdESE 24 SATHY 2| et g 40
5| (M2 st N/H OB A 41
BlEs | &ED| 2x 220l YHEH 41
Ol = &I HeENSst 41
24 (M2 A2 LA 41
BHEE (M2 WhiteSpider 46
AFEE |24t SAIH Y 2| A 46
=23 (M2 AN22201U=SE 50
459 M2 NEXNSSEE2E 51
dold (M2 2=22dNssn 51
OITHE |24t ZHS2et0o|UHE 55
818 818 818 818 | 3,272
1089 469H MY 489 559




O3 ¥
A 5 5 B 3
=9 08 }e £58 aFnon | wioys | a5t | wads |
=9 |85 =¥ | 85 =9 |8 =9 | &
1 22X (M2 0UEDN/SAHOIAZH0ILE | 1 100 | 1 100 1 100 | 300
2 | BtAR |HD| | A2 NS/ EAHOIASCI02ZYE | 3 | 60 | 3 60 1 1100 | 2 | 80 | 300
3 | A & |SE|EF2SESU/SAHOIAZ0IYE | 2 80 2 80 3 60 3 65 285
4 |SstUcl|d0]] dAMSDSSIN/K2UAEZE 13 | 26 3 60 3 60 4 55 201
5 | Ho& |[M2 SAHOIAZCHOIYE 5 51 5 51 2 80 182
6 | HAEH (A2 Fourteen A 2& 6 47 6 47 6 47 | 13 | 26 167
7 | &&0F | FD) P~ =318 3 60 | 12 26 5 51 137
8 | dds U+ A MHE2H0IYHH 7 43 8 40 9 37 120
9 | ¥2F (A= ag= 12 | 28 7 43 8 40 111
10 | OIOIXt M2 IrsE2Y 9 37 | 10| 34 | 14 | 28 94
11| Ol8=s |[M2 Fourteen A 2& 10 | 34 | 16 20 9 37 91
12 | 280t (M2 St=x=0& IR 32 | 20 | 7.1 6 45 | 84.1
13| oty (M MNE2220I1Y=EE 7 | 43 | 11 | 31 74
14 | QX (M2 PSS E 8 40 | 10 | 32.5 72.5
15 | &= |&ZJI ez 2ol AE 14|22 | 20 | 7.1 14 | 24 | 16 16 69.1
16 | EO0HA |24 SAd S IeIZ2 14 | 22 | 17 16 13 | 26 64
17 | 289 | &3] =2AM22c0| Y 14 | 22 15 22 16 16 60
18 | &dl=s (M2 L EAASG 12 26 16 | 17 | 16 | 16 59
19 | o128 (&I 21220l L HIEL 17 | 18 | 17 | 16 | 15 | 22 56
20 | o1gY M2 PLEE TG 12 26 12 | 28 54
21 | A |24 JEEBUOBAL T 5 51 51
22 | 23 |Z¥ et AT RO 6 | 45 45
23 | €28 (M2 Ml 2 5= 2 8y = 8 | 40 40
23 | MAY (M2 N&E=222t01Y 11131 22| 9 40
25 | 28& | SATHE 2| atet g 21 10 | 20 | 7.1 16 | 17 | 27 4 38.1
26 | 283 |UA =St 9 37 37
27 | XEollol |&HJI Qetxsstn /ot 220U E 10 | 34 34
28 | A=A (A2 Fourteen A 2& 10 | 32.5 32.5
29 | A5 (B4t SAH L 2| Aot 20 | 7.1 16 | 17 | 23 | 6.5 | 30.6
30 | OI=0ll |&Z= 0| 220l Y AE 12 | 28 28
31 | sl |&E] otAHAE 20 | 12 | 20 | 71 23 | 6.5 | 25.6
32 | &H= (&I ot =& 20| A EL 18 | 15 21 | 10 25
33 | g&HS M2 Mz 22022 14 | 23 23
34 | 20 |&JI ot S 20| Y HH 18| 156 | 20 | 7.1 22.1
35 | &3t &) Hel =32 210| L MIE} 16 | 17 17
36 | U0l | »& AF=ES220/Y2H 22 1 9 | 20 | 7.1 16.1
37 | M= (M2 NZ22c01Y2Y 16 | 16 16
37 | €39 |24 Sadeteael =28 17 16 16
37 | 2l8EHE M2 X2 16 | 16 16
40 | B0|Z |F4t SAa 2| aret g 20 | 12 12
41 | 3ol |&ED] e =220l HE} 21 10 10
42 | 2K 0| |Fat SA22H0] L A 22 9 9
43 | LG | 2ok SA22H0] 2 A 23 8 8
44 | B3 XL (M2 Fourteen A 28 20 | 7.1 7.1
44 | NEH (M2 SEseEE 20 | 7.1 7.1
46 | AB= |E= =L L2425 23 | 6.5 6.5
46 | =XY (&= FdF=HR4HE5] 23 | 6.5 6.5
48 | A2SY |Rat SAHIHE 2| &t 3l 28 3 3
49 | A&= [ FD| Hel 2210l Y MIH 29 2 2
783 816.9 790 815 [3204.9
499 229 299 239H 28




